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Warm Up Grade 8

Test Wed. April 24

1) The recommended seeding on a package of grass seed is
200 g per 9 m2. Carey spread 150 g over 6.5 m?.

Is this more than, equal to, or less than the recommended
seeding? How do you know? (Make a term 1)
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2) A contractor brought 2 shades of yellow paint for his clients to see.
Shade 1 is made by mixing 5 cans of yellow paint with 3 cans of

white paint. Shade 2 is made by mixing 7 cans of yellow paint with

4 cans of white paint. The clients want the lighter shade. Which

shade should they choose? ’
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pg. 291
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Solving Ratio Problems

Have students work on Investigate pg. 287

Recipe for Apple pie that serves 6 people.

500 ml flour
200 ml of margarine
500 g sliced apples
125 g sugar.
Toby only has 350 g of sliced apples.

How much of each of the ingredients
does Toby need to make the pie?

How many people will Toby's pie serve?
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Solving Ratio Problems

Have students work on Investigate pg. 287

Recipe for Apple pie that serves 6 people. x A7
500 ml flour < ’050m I A50m |
200 ml of margarine ol 6"\ ' , L’ O m '
500 g sliced apples ‘so ’3 3§0 ﬁ

125 g sugar. ’ 9 5:3 ?7¢ Sﬁ

Toby only has 350 g of sliced apples.

How much of each of the ingredients
does Toby need to make the pie?

7= 35=330
10 50 900

How many people will Toby's pie serve?

ONLY MAKES 70% OF BATCH
70% OF 6 =4.2
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When given a question to find the missing variable in a ratio:
- First see if you can multiply or divide to get a term in the second ratio.

- Reduce the given ratio, if possible, then recheck to see if you can multiply or
divide.

- Finally, make the same term in each ratio equal to solve for the missing term.
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Test Wed. Apr|I 24

Worksheet 8 - Solving Ratios

April 17, 2024
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Q Extra Practice 8 Solving Ratios.pdf



( Master 5.28 ) Extra Practice 8

1.

Lesson 5.8: Solving Ratio Problems

Find the value of each variable.

a) x:8=9:24 b) y:15=7:3
c) a:8=94 d) p:12=15:10
e) b:5=18:6 f) t11=6:33
g) 2:7=20:d h) 34:85=15
i) 45:30=6:s j) 9:36=c:8

An advertisement claims that 7 out of 8 people prefer Brand X.
Suppose 216 people were interviewed.
Find the number of people who prefer Brand X.

The Grade 8 students held a graduation dance.
Four out of 7 students attended.

There are 112 Grade 8 students.

How many students attended the dance?

A ski shop rents 5 snowboards for every 3 sets of skis it rents.
Suppose 126 sets of skis were rented.
How many snowboards were rented?

A blueprint for a cottage has a scale of 1:40.
One room measures 3.4 m by 4.8 m.
Calculate the dimensions of the room on the blueprint.

For a painting, the ratio of the length to the width is 5:3.
The painting is 45 cm wide.
How long is the painting?

The ratio of the number of students who take trumpet lessons to clarinet lessons is 6:5.
The ratio of the number of students who take piano lessons to trumpet lessons is 8:3.
Ten students take clarinet lessons.

a) How many students take trumpet lessons?

b) How many students take piano lessons?

The scale on a map is 1 cm represents 40 km.
The actual straight line distance between 2 cities is about 340 km.
What is the map distance between these 2 cities?
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